1 1 1
D) - @ b -a? ® (b -a
Ly 2 Loy 2
@ 8b +a ® 16b ta

712, 28] Aolet Fol& ZAZt x, y, z2F oFH
Ax+y+2)=b, /X2 +y2+72=a

1
E X+Y+Z=Zb,x2+y2+22=a2
webA, Foke ASHA 9] Aylol=
2(xy +yz+2x) = (x+y+2)° - (> +y* +2%)




® f(x) @ xf(x)
® x(x+ 1)f(x) @ (x-1)f(x)
® (x+1)(x=1)f(x)

B

(x=1)f(x) = xg(x) = (x + 1)h(x) 1A

@ ok f(x) ol tHoke] x = 0,-1= HHASHA £(0) = f(-1) =
0

@ tFdA] g(x)ofl thoto] x = 1,-12 YA g(1) = g(-1) =
0

® thHA] h(x) ol tiste] x = 0,1 HYSHA h(0) = h(1) =0

@, ©, L =2HE

f(x),8(x), h(x) o] HH5F+E Gt 514

f(x) =x(x+1)G, g(x) = (x=1)(x+ 1)G, h(x) = x(x—1)G

o (%), 8(x), h(x) o] FagulaE

x(x+1)(x-1)G = (x-1)f(x)




@) (x- 1)g(x) @ (x+1)g)
@ (x+1)%g(x) ® (x-1)%g(x)

f(x), g(x) ol Higte, (x +1)f(x) = (x - 1)g(x)
A o, o2 5 f(x) 2 g(x) 9 HAFFE?

® (x-1)%(x)

(x+1)f(x) = (x-1)g(x)--- @
x+ 17 x—10] A& LolBZ
x+ 12 g(x) & Ql4=o|tt.
oHebA g(x) = (x + 1)h(x)---
DA £(x) = (x~ ()
@2}t @A f(x) 2t g(x) o] FHAFHi4
(x=1)(x+ Dh(x) 5, (x—1)g(x)

@=sod
®

=
—




4. & I A A o] Wol=? 135

6a
k 4b|
Tt---8g--""
@ 642 - Tab + 2b? @ 36a% — 42ab + 12b?
(@)48(12 — 48ab + 12b* @ 12a? - 12ab + 3b*

® 48a® + 48ab + 12b>

(6a — 3b)(8a — 4b) = 484% — 48ab + 12b>




5.

a?>=b* =24 W, {(a+b)"+ (a—b)"}* - {(a+b)" - (a-b)")?°]
27

@ on @ 2n+1 @ 2n+2 @ 2n+3 @ 2n+4

B ~

(a+b)"=A, (a-b)"=B
(£41) = (A 4+ 2AB + B?) — (A% - 2AB + B?)
=4AB
=4{(a+b)(a-0b)}"
=4x2"
:2n+2




X% +kxy—2y%+3y—1 ] x, y of] T3t
k °] k& -oFH?

@il @ =2 ® +3

A

Lo

B

X2+ kyx — (2y2 - 3y + 1) = 0914
D =k?y?> +4(2y°> -3y + 1)

= (k2 +8)y>—12y + 4
| Alo] &xdA|F 2] 0] Eofof gttt

=36-4(k2+8) =0

o

R

SLk==+1




xoll Bt oA HA x2 + nx+p =09 F 2& o, o1, ¥% +
nx+q =09 F 2= y,65t & W, (a-y)(@-6)(B-7)(B-0)E p.q
2 YeRfH?

@ (p+9q)? @ (2p+9)? ® (p-29)°

C@)(p—q)2 ® (2p -3q)2

~&B

=3 Al ko] BA o A

a+B=-naBf=p, y+6=-n, y5 =q°|B=
T A ={(a-y)B-7)} {(@a-6)(B-06)}
={»* - (@+B)y +ap} {6* - (a + ) + op}
= (y* + ny + p)(6* +né + p)
a3, y?2 +ny +q =014

Y’ +ny+p=p-q

T, 6%+ n6+q=0°A

2 +ns+p=p-gq

ebA, o4 A= (p - ¢)?




8. OIAIAA 2 -2x-1=09F 2 T, (1-a)(1-8)+
(2-a)(2-p) +--+ (5-a)(5-p) ] &2 T3HH?

® 50 @ 40 ® 10 @ 30 @20

~&B

2 -2x-1=09 F 9] a, po|B2

a+B=2,a8=-1
L(l-a)1-B)+(2-)2-B)+ -+ (5-a)(5-B)
=(1-(a+pB)+aB} + {4-20@+B+eB} + -+ +
{25 - 5(a +B) + B}
—(1+4+9+16+25) - (1+2+3+4+5)(a+8)+ 5aB
—55-15Xx2-5="55-30—5=20




9. ol @ AN - 2px+ p+2 =09 BE 2 A5R} Lol
5% % SR A% p o] gre] Hele?

@D—2<p<0 @ -2<p<0 ® -2<p<0
@ -2<p<0 ®0<p<2

B ~

x> =2px+p+2=09 T
x=pt /PP=p=2--@
(i) Qo] 4= o
pP-p-220,2p<0, p+2>0
SLo—2<p<-1
(i) @] 5124 o
pP-p-2<0°3p<0

-1<p<0
oA ol A 5= pol 2L 2<p<0




10.

oL 3Ato] A3 BEHNAE 42 BUE ATAE THEL
AUt st AFFNAE BUHE 400, B3F A= A0AE
10000 o RFECH Y EE 20000 H, 23] 7= 80000 tH7} THE-o{ 2|
EA Z0 2 gttt F AlEo] 22 g o] RHEH 12 o]
FZ5t] 83|t A] QIEE Fotofof qitt. o] wf, -8 §]Abe] A
HLL 50,0009, FZolE 70,000 LS 223} 2008 49 1Y
29U HFoR RYHE, g9 AQAE oA 2008
AL7E2] & 2|Atol| A =L FH-S Foteia)

- o
= kel

>
> Hgh 390000 Y

€5 ~
49 19,4929 - S 471, 2--- 2 5HH
129 31 ¢2 275 0]t

DUE7F 2FE= Eo] 5a + 10]3L

21 A7 SHE]= gol 8b + 20]H,

T Ao 28 w50 +1=8b+2
b=>5k+1, 5k+2, 5k+ 3, 5k + 45 tUsHHA
b=>5k+3 <Y o, 3t

a8 BE 2y Nt = A ¢

—40k +26 (k=0, 1, 2---) o]t}

T Z2 g 21t

26, 66, 106, 146, 186, 226, 266 ©]1,

ol E T HYE25Y, FL22¢d olBR

(50000 x 5) + (70000 x 2) = 250000 + 140000 = 390000

ol




